NEW MANGALORE PORT TRUST

DEPARTMENT OF CIVIL ENGINEERING MAINTENANCE DIVISION-II OUOTATION No.22/140/MTC-II/2023-TS dated 20.11.2023

Sealed quotations are invited with EMD on percentage rate basis from the contractors having ESI, PF and GST Registration for the following work.

Name of work

: Cable duct for installation of 40 No.s of immigration

cubicals inside Cruise lounge

Amount put to quotation: Rs.1,62,062.65

EMD Rs.

: Rs.3,850.00

Date of opening

: 27.11.2023

Completion Period

: 01 month

The quotation shall be dropped in the tender box placed in A.O. building Annexure block ground floor (Next to PRO office) on or before 3.00P.M on 27.11.2023 and will be opened at 3.30 P.M on the same day in the presence of the quotationer or their authorised representatives. The estimate, Plan, specification and other particulars to be furnished may be seen in this office on any day during working hours.

The Contractor shall quote the percentage rate in figures as well as in words clearly in the enclosed BOQ. The percentage rate quoted shall be inclusive of labour, cost and conveyance of all materials, tool and plants etc. complete. GST will be reimbursed as applicable. Payment will be made after satisfactory completion of work and applicable taxes will be recovered from the bill.

The EMD shall be paid through RTGS/NEFT to the following bank details in favour of the FA&CAO, NMPA. The copy of receipt shall be enclosed along with the quotation. The benefit of exemption of EMD to all Micro and Small Enterprises (MSE) shall be allowed. The proof of being MSE registered with District Industries Center (DIC) shall be enclosed. The quotation without copy of receipt of RTGS/NEFT/Certificate will not be entertained.

NMPA Bank Details:

Name of the Bank: State Bank of India, Panambur, Mangalore - 575010

Bank A/c No.: 10205649448, IFSC Code: SBIN0002249,

MICR Code: 575002011

The offer submitted should be open for acceptance for a period of 90 days from the date of opening the same. In the event of contractor backing out before the expiry of 90 days from the date of opening the offer or fails to adhere to the conditions stipulated herein and in the contract for on which the offer is deemed to have been submitted the EMD of the said firm will be forfeited to the New Mangalore Port Authority. The successful quotationer shall execute an Undertaking in the prescribed form on a stamp paper of required value.

Shashikanth P. Kodi

Executive Engineer

Maintenance Division -II

NEW MANGALORE PORT TRUST

DEPARTMENT OF CIVIL ENGINEERING MAINTENANCE DIVISION-II

QUOTATION No. 22/140/MTC-II/2023-TS dated 20.11.2023

BILL OF QUANTITIES

Name of work: Cable duct for installation of 40 No.s of immigration cubicals inside Cruise lounge							
SL No	Description of items	Qty	Unit	Rate in Figures	Amount Rs. Ps.		
1	Dismantling tile work in floors and roofs laid in cement mortar including stacking material to the appropriate disposal area as per direction of Engineer-incharge. For thickness of tiles 10 mm to 25 mm	39.00	Sqmt	37.00	1443.00		
2	Demolishing cement concrete manually/ by mechanical means including disposal of material to the appropriate disposal area as per direction of Engineer-in-charge.	4.00	Cum	1274.00	5096.00		
3	Providing and fixing 50mm PVC pipes with working pressure 6kg/sq.cm with pipe fittings, clips, making good the floor, including cost of all materials, labour charges, HOM and testing complete as per specifications and as per directions of Engineer-in-charge	254.00	RM	290.95	73901.30		
4	Providing and laying in position plain cement concrete for leveling course for all works in foundation. The granite / trap / basalt crushed graded coarse aggregates and fine aggregates as per relevant IS codes, machine mixed, laid in layers not exceeding 150mm thickness, well compacted using plate vibrators, including all lead & lifts, cost of all materials of quality, labour, usage charges of machineries, curing and all other appurtenances required to	3.30	Cum	5926.00	19555.80		
-	machineries, curing and all			·			

	removing formwork, centering		1.00		
	& scaffolding. (The cost of steel			100	
	reinforcement & dowel bars to		1,8		
v	be paid separately) Mix 1:3:6				
egy in a	(M10) using 20mm nominal size			,	
	graded crushed coarse				
	aggregates.				
5	Providing and laying Vitrified	39.00	Sqmt	1111.00	43329.00
3 12 13 13	tiles in different sizes (thickness		- to 116	mimendi-	
	to be specified by manufacturer)				
	with water absorption less than		Safe Sing	el de l'est	
	0.08% and conforming to I.S.		n Top in the		
	15622, of approved make, in all		1 8100	King Spiriter	
	colours & shade, over 12 mm		eresting	review with	
	thick bed of cement mortar 1:3		14 50	d with the	
	(1 cement: 3 coarse sand),		1,500	rîk dirin rîgi G	
	jointing with grey cement slurry		_	Park to the	
15	@ 3.3 kg/m2 including grouting		2 months -	11 = 2 = -	
	the joint with white cement &				M == 2
	matching pigments etc		17	11 st 10	Astron.
	complete. Size of Tile 600x600			194 431.5	to the same
	mm.		is the s	-5-1° gra	
6	Fabricating and fixing MS plate	203.47	Kg	92.09	18737.55
	10mm thick, including cost of		1.6	12.00	10,07.00
	materials, cost of labour,		9171.1	a region	¥ " E
	welding, cutting, drilling 4Nos	gen de la	Market Market	1 1 - 1 1	# 25 To
	of holes, bending, fixing	diam.	112 mile 2	inger dig	editi.
	charges, including all necessary	a. 10	era ju		eri.
	fittings, painting with epoxy	Programme to	T = 1125	al shah	la vi
	paint 2 coat with one coat of	4 656	O Sele		12:1
	primer, transportation charges	M - 1	27.02	and the	programme in the
	and all other incidental charges	dy. R. T	The Mily		erai.
	etc. complete	ar integral	Lare at	brig pulsar	19
	Estimated amount put to quota	tion (exc	luding (CST) Re ·	162062.65
ADD)	ruding (351) Ks	102002.00
	ve the estimate amount put to quota	ation		Rs.:	Delt.
	UCT: % ()	11011	neds -
	w the estimate amount put to quota	tion.	2 5041 5	Rs.:	350
	pat to quota		Total A	mount Rs.	
Rupo	noc	THE RE	GREET D		MULL .
Rupe					
кире	ees		erumiko) esp. baj e. sariba		

Note: GST will be reimbursed as applicable